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Pushdown Automata - Example (Even Palindrome) PART- 2

Construct a PDA that accepts Even Palindromes of the form

L={wwR|w=(ath)*} ¥

a, €—a a,a—€
b, e=b b, b—e

s, S £, €=k , Zo—
@ f e

Example: a b b a




Pushdown Automata - Example (Even Palindrome) PART- 2

Construct a PDA that accepts Even Palindromes of the form
L={wwR|w=(a+b)*}

a, €—a a, a—e€

b, e—=b b, b-e
o e G g
Example: a b b a
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Pushdown Automata - Example (Even Palindrome) PART- 2

Construct a PDA that accepts Even Palindromes of the form
L={wwR|wz=(a+b)*}

a, €—a a,a—e€

b, e=b b, b—e

€, €53 E} €, E—E E} -
_@ 0 a, a3 E,Zoe

Example:cae bebeae
"




a, €—a a a—€

b, e=b b, b—e

€, E02, &, EnE o Lo €

Example:ea€ bebe &he
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Example:e ae bebeace
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Pushdown Automata - Example (Even Palindrome) PART- 2

Construct a PDA that accepts Even Palindromes of the form
L={wwR|w=(a+b)*}

a, €—a a, a—e€

b, e=b b, b—e




Pushdown Automata - Example (Even Palindrome) PART- 2

Construct a PDA that accepts Even Palindromes of the form
L={wwR|wz=(a+b)*}

a, €—a a,a—€

b, e-b b, b-e

e e P g

Example:eae bebeae
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